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public static void main (String][] args) {

intx=1]2"3&& 5, PrbA

inty=((112)"3)&&5;. A e

intz=112"3 && 5)); e

System.out.print(x + "," +y + " " +2); _ jﬁ*i
} ;
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public static void main(String[] args) {

chara="'a";//'a'=97 ,

charb="0";/'b'=98
System.out.print(a + b + "" + a + b);
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public static void main (String[] args) {
inti=0,j=0;
while (i++ < 3) do
System.out.print(j);
while (j++ < 3);
}
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public class PassArray {
public static void main(String args[]) {
int array[]={1, 2, 3, 4, 5};
modifyArray(array);
System.out.printf("array[3] before modifyElement: %d\n", array[3]);
modifyElement(array([3]);

System.out.printf("array[3] after modifyElement: %d\n", array[3]);
}
public static void modifyArray(int array2(]) {

for (int counter=0; counter<array?.length; counter++) array2[counter]*=2;
}

public static void modifyElement(int element) {
element*=2;

System.out.printf("Value of element in modifyElement: %d\n", element);
}
}
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array[3] before modifyElement: X

Value of element in modifyElement: Y
array[3] after modifyElement: Z
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